

# State of West Virginia Solicitation Response

Proc Folder:

1758101

**Solicitation Description:** 

Addendum 1: Fabricated Steel Plates & Connectors

Proc Type:

Agency Purchase Order

Solicitation Closes	Solicitation Response	Version
2025-08-14 10:30	SR 0803 ESR08132500000000977	1

**VENDOR** 

VS0000049176 NKP METALS LLC

Solicitation Number: ARFQ 0803 DOT2600000007

**Total Bid:** 12600 **Response Date:** 2025-08-13 **Response Time:** 14:08:02

Comments:

FOR INFORMATION CONTACT THE BUYER

Kristine E James 304-558-0408 kristy.e.james@wv.gov

Vendor Signature X

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Aug 14, 2025 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Fabricated Plate 3/4" x 2'-8" x 3'10" w/15/16" holes drilled	1.00000	EA	4600.000000	4600.00

Comm Code	Manufacturer	Specification	Model #	
30102204				

#### **Commodity Line Comments:**

#### **Extended Description:**

Fabricated Plate 3/4" x 2'-8" x 3'10" w/15/16" holes drilled

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Fabricated Plate 3/4" x 1'-1" x 2'8" w/15/16" holes drilled	2.00000	EA	1500.000000	3000.00

Comm Code	Manufacturer	Specification	Model #	
30102204				

#### **Commodity Line Comments:**

#### **Extended Description:**

Fabricated Plate 3/4" x 1'-1" x 2'8" w/15/16" holes drilled

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Fabricated Plate 3/4" x 1'-0" x 8'-9" ( No Holes)	1.00000	EA	1500.000000	1500.00

Comm Code	Manufacturer	Specification	Model #	
30102204				

## **Commodity Line Comments:**

#### **Extended Description:**

Fabricated Plate 3/4" x 1'-0" x 8'-9" ( No Holes)

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Fabricated Plate 3/4" x 4 3/4" x 8'-9" ( No Holes)	2.00000	EA	750.000000	1500.00

Comm Code	Manufacturer	Specification	Model #	
30102204				

### **Commodity Line Comments:**

#### **Extended Description:**

Fabricated Plate 3/4" x 4 3/4" x 8'-9" ( No Holes)

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Connector 7/8" diameter bolt, 4" long w/ nut	100.00000 EA		12.000000	1200.00

Comm Code	Manufacturer	Specification	Model #	
30102204				

## **Commodity Line Comments:**

#### **Extended Description:**

Connector 7/8" diameter bolt, 4" long w/ nut

Date Printed: Aug 14, 2025 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Ln Total Or Contract Amount</b>
6	Connector 3/4" diameter bolt, 4" long w/ nut	100.000	000 EA	8.000000	800.00

Comm Code	Manufacturer	Specification	Model #	
30102204				

# **Commodity Line Comments:**

# **Extended Description:**

Connector 3/4" diameter bolt, 4" long w/ nut

 Date Printed:
 Aug 14, 2025
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05



# State of West Virginia Agency Request for Quote

**Proc Folder:** 1758101 **Reason for Modification:** Doc Description: Addendum 1: Fabricated Steel Plates & Connectors Addendum 1 To attach responses to vendor questions, attach revised specifications and modify bid **Proc Type:** Agency Purchase Order opening date **Date Issued Solicitation Closes Solicitation No** Version 2025-08-07 2025-08-14 10:30 ARFQ 0803 DOT2600000007 2

#### **BID RECEIVING LOCATION**

PROCUREMENT DIVISION DIVISION OF HIGHWAYS

**BLDG 6 RM 340A** 

1900 KANAWHA BLVD E

CHARLESTON WV 25305

US

#### **VENDOR**

Vendor Customer Code: VS0000049176

Vendor Name: NKP Metals LLC dba Orsolini welding & Fabricating

Address: 3040 W Carroll ave

Street:

City: Chicago

State: Illinois Country: USA Zip: 60612

Principal Contact: Pranav Gandhi

Vendor Contact Phone: 224-742-1947 Extension:

#### FOR INFORMATION CONTACT THE BUYER

Kristine E James 304-558-0408

kristy.e.james@wv.gov

Vendor Signature X

FEIN# DATE 8/13/2025

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Aug 7, 2025
 Page 1
 FORM ID: WV-PRC-ARFQ-002 2020/05

# **ADDITIONAL INFORMATION**

## ADDENDUM 1 IS ISSUED FOR THE FOLLOWING REASONS:

1. TO ATTACH RESPONSES TO QUESTIONS FROM VENDORS
2. TO ATTACH REVISED SPECIFICATIONS
3. TO MODIFY THE BID OPENING DATE

#### NO OTHER CHANGES

INVOICE TO		SHIP TO	
DIVISION OF HIGHWA	YS	DIVISION OF HIGHWAYS	
DISTRICT TEN		DISTRICT TEN	
270 HARDWOOD LN		270 HARDWOOD LN	
PRINCETON	WV	PRINCETON WV	
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Fabricated Plate 3/4" x 2'-8" x 3'10" w/15/16" holes drilled	1.00000	EA	\$4600	\$4600

Comm Code	Manufacturer	Specification	Model #	
30102204				

## **Extended Description:**

Fabricated Plate 3/4" x 2'-8" x 3'10" w/15/16" holes drilled

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS	
DISTRICT TEN		DISTRICT TEN	
270 HARDWOOD LN		270 HARDWOOD LN	
PRINCETON	WV	PRINCETON	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Fabricated Plate 3/4" x 1'-1" x 2'8" w/15/16" holes drilled	2.00000	EA	\$1500	\$3000

Comm Code	Manufacturer	Specification	Model #	
30102204				

## **Extended Description:**

Fabricated Plate 3/4" x 1'-1" x 2'8" w/15/16" holes drilled

 Date Printed:
 Aug 7, 2025

 Page 2
 FORM ID: WV-PRC-ARFQ-002 2020/05

INVOICE TO		SHIP TO
DIVISION OF HIGHWA	NYS	DIVISION OF HIGHWAYS
DISTRICT TEN		DISTRICT TEN
270 HARDWOOD LN		270 HARDWOOD LN
PRINCETON	WV	PRINCETON WV
US		US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Fabricated Plate 3/4" x 1'-0" x 8'-9" ( No Holes	) 1.00000	EA	\$1500	\$1500

Comm Code	Manufacturer	Specification	Model #	
30102204				

# **Extended Description:**

Fabricated Plate 3/4" x 1'-0" x 8'-9" ( No Holes)

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS	
DISTRICT TEN		DISTRICT TEN	
270 HARDWOOD LN		270 HARDWOOD LN	
PRINCETON	WV	PRINCETON	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	Fabricated Plate $3/4$ " x 4 $3/4$ " x 8'-9" ( No Holes)	2.00000	EA	\$750	\$1500

Comm Code	Manufacturer	Specification	Model #	
30102204				

# **Extended Description:**

Fabricated Plate 3/4" x 4 3/4" x 8'-9" ( No Holes)

INVOICE TO SHIP TO

DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS

DISTRICT TEN 270 HARDWOOD LN

PRINCETON WV PRINCETON WV

US US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Connector 7/8" diameter bolt, 4" long w/ nut	100.00000	EA	\$12	\$1200

DISTRICT TEN

270 HARDWOOD LN

Comm Code	Manufacturer	Specification	Model #	
30102204				

## **Extended Description:**

Connector 7/8" diameter bolt, 4" long w/ nut

INVOICE TO		SHIP TO	
DIVISION OF HIGHWAYS		DIVISION OF HIGHWAYS	
DISTRICT TEN		DISTRICT TEN	
270 HARDWOOD LN		270 HARDWOOD LN	
PRINCETON	WV	PRINCETON	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
6	Connector 3/4" diameter bolt, 4" long w/ nut	100.00000	EA	\$8	\$800

Comm Code	Manufacturer	Specification	Model #	
30102204				

## **Extended Description:**

Connector 3/4" diameter bolt, 4" long w/ nut

# SCHEDULE OF EVENTS

<u>Line</u>	<u>Event</u>	Event Date
1	TECH QUES DUE AT 10AM ET	2025-08-07

	Document Phase	Document Description	Page 5
DOT260000007		Addendum 1: Fabricated Steel Plates & Connectors	

# ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions